W Chemical Reactions

Name Class Date
o Given the reaction: e In which kind of reaction is soap
Fe(s) + Cu?* (aq) — Fe?* (aq) + Cu(s) one of the products?
Which-half-raastian-carracthrochow g A
oxidatissnall B shondicafor
A ke E)+ 29 C zatit
B 1+ Fef* (ag) D fermentati W
c bICu(s) + 2¢
D { 2e~blCufd
|
e Which metalis produced by the o Bivanithe fecton;
electrolytic reduction of its fused salt? N,(g) + 3H,(g) = 2NH,(g) + energy
. - If the temperature is increased and the
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A energy, only
B matter, only
C both matter and eneray

D nafErmaller noreneig

A saponification
B esterification
€ polymerization
D fetmeniation

e Giveri.{ ti¢
Fe,0; +3C ) +haat — 2Fe + 3CO,

Which substance in this process acts
as the oxidizing agent?

A Fe € co
B Fe,0, D CO,

‘:9, Which reactian has the gregidstigrreast
in entropy?

A 2H,0(l) — 2Hy(g) + O,(9)
B 2H,0(g) — 2H,(g) + O,(9)
€ H,0(g) — HO()
D H,O(l) — H,0(s)
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